ST
SvkEov

B & x
glOog— K K49466
i, = SWM1610
i mataT SWM1610-07

‘BB EXDRRIE. I BB mEtIREN eI EFELEZS,
HAGBRD—ERClE, FE8 -/ MEBGTDADEBRDHIET

HASHIHIAY —






EERD TIEXITDNT

HIESRDYIRERIZONT

0
\

3

ESCOBRE, FRUHE E 2 ZEE<IE S,

—
palsy

1

0

(

u]

©e00
¢ o oy @
g0 B0 HO og
S
an R I W

=3

2t

[

&

=
e

X M RMRE X IBMARREE LU, KIKICEH
HFOR—LTL—FIRRLTWVET,

CEso [ — | [ UTFozeeEL
THYET,

[\

[ =] vakd, MARAERTOEEA
BLAE 2 12 X0 B B

s T oA SICE DS CHLR
TIHERG L2V L

3. RIEEN[ ] KKRoTWDH LD, il
HEL L EW, IR R 20 FFT 0T, £
DOFBEE ZHHRE SETIHE £ 97,

4. fAEEO—EIZIE, £ED &Y MFED
BHDEBERH Y £9, THEIXDBIT TR T2
VN, ElEamE b S TO R WESIE
v MRGEOHDK G & SE TV =E X F97,

% LB D TR B - M
THZLERDYET,

MAEER S X S AL RR AL 2 B E VR D < 72 X0,
HBELEL 2 B VIS0 £9 L8 RO AR
PERBIZRET 558030 0 £ 3,

Z ORLEL ORHE R OHAGER G 12X,
FEFTHUIV % 9FE T, e L, BEEERNT
HoTH, RSSOV T2 & %2 T
SHETCWELGAEDH Y £7,

FHAEER S O PR IXR HIEIZ I ERE O ARG 4EIR ©
BT LETH, EFERZRE Th>TH, Hidh
R D ZEEED B o T2 A T X OMiifs 2>
WTC TS E QW& 7,

REEIZDLNT

I D UOE I TR DJRIK & 72V £3 DT, 1TH
2N TLIESI Y,

dudE LI e P Bt R R b7z iE Ly
A& B2 D581%, RGEDORGINTR D F
TOTIHEELTEIV,



SWM1610

Sy T Ty

\0

IL—L(1)

13883-1

065-0047-100

REE| S S B - I - {(EEAS fii =
1 1373630004 AL T7L—ACP 1
2 | 0714891000 ¥ayak—A CP:540 1
3 | 0836421000 X¥aak—A CP:375 1
4 | EWK869932 SEYX7 ;4%X1,/8 4
5 | ONBSI1 J)—ZA=v7) B PT1,/8 2
6 | 1376000004 Fra—/3C P 1
7 | BZ16120 ALE 8. 8 M16X120 2
8 | WSA16 NP HE 347 M1 6 2
9 | NZ16 F>vh 8 232 M16 2
10 | 064021100M Ty 2
11 | 134946000M R—APHR—FCP 1
12 | BSZ10035 afAERLE 7T M10X35 2
13 | WSA10 NP A 327 M10 2
14 | NSZ10 afExFyh 8 232 M1O 2
15 | 0667641004 t v 2
16 | BZ20080 AR 8.8 M20X80 2
17 | WSA20 NAEAYFHR 337 M20 2
18 | NZ20 Fvh 8 2¥=2 M20 2
19 | 1376061004 Jor—Y Ra—/RCP 1
20 | 066805000M tyFEy CP 1
21 | WRA30 IR M30 2
22 | 000739000M JoFEY ;9 1
23 | 1376551004 AHRCP ; L 1
24 | 1376581004 AR RCP ; R 1
25 | 077934200M =% 2




SWM1610 SYELT I IJL—L(1)
RER| 5 A & B A I <R %k fifi =
26 | 000738000M JoFEY ;6 2
27 | €Z050005 Vo rFz—r ¥PVay 5X27. 5PX5 1
28 | SSC0620 Tryw s 6—1,/4 2
29 | 1376530004 77 ANLCP 1
30 | BZ16035 ALE 8.8 M16X35 4
31 | WSAl6 NEYPHR 3947 M16 4
32 | NZ16 Fvh 8 2v=2 M16 4
33 | 1094610000 AA4¥AS ;5. 00—9—8PR 2
34 | 0579400000 A% ;5. 00—9—8PR 2
35 | 1070520000 Fa2—73:5. 00—9 2
36 | 109446ASY ARA—/N ;3. 50DX9DT 2
37 | BZ12025 ALE 8.8 M12X25 12
38 | NZ12 Fvh 8 232 M12 12
39 | WSA12 NREPHx 337 M1 2 12
40 | 0004075004 N7 AB2X80 2
41 | J30208 T—n—I_7Y 7 30208 2
42 | J30206 T—a—I 7Y/ 30206 2
43 | 000501000M VAT vyy  ;40X80 2
44 | WRA24 EI7H R M24 2
45 | 000712000M Xy v ANLFy b, M24X1. 5 2
46 | PC040032 TJUEL 4X32 2
47 | 000415000M Xrv/:62 2
48 | 000420000M ALK M12X1. 5X50 12
49 | NZ12150 Fvh 8 2¥=2 M12X1. 50 12
50 | WSA12 NAYPHR 33 M1 2 24
51 | ONBSI JV—A=y 7N B PT1,/8 2
52 DHZR—L7 L —h 1
53 | 1385460000 FYL s RI<w—27 250 1




SWM1610

SyEVT <

(4

\0

e

v

REE| H S FE B - I - {(EEAS fii =
1 1520690003 7579 hCP ; TRy 1
2 | BZ12100 ALK 8.8 M12X100 2
3 | WSA12 NREPHx 327 M1 2 2
4 | NZ12 Fyr 8 232 M12 2
5 | 042783600M Ty ;12 2
6 | 1379121003 H—=KRAZRCP 1
7 | 026970100M Tyix; 14 2
8 | WSAl4 NEXYPFHFX 337 M1 4 2
9 | BZ14030 ALK 8. 8 M14X30 2
10 | 1379030004 a7 HN—CP 1
11 | BSZ08020 aFHEFLE 7T M8X20 4
12 | WSAOS NREPHx 337 MS 4
13 | WRAOS eI TR MS 4
14 | NSZ08 affEFyh 8 232 MS 2
15 | 8039750003 7% KCP ;U 1
16 | BSZ08025 afHERILE 7T M8X25 2
17 | WSAO8 NAYFHR 397 MS 2
18 | NSZ08 aff B Fyh 8 2= MS 2
19 | 1378381003 F VN HR—CP 1
20 | 0006900000 =XVJ :M8X%X14 4
21 | WCR1HO8 PINRRZYPHX 1vavay M8 4
22 | 1379080004 H—RAF—CP 1
23 | CAP034032 Xyv7 34. 0X3. 2 1
24 | 069868000M FILEE L ;12 1
25 | 1181490000 =XV : M8 1




SWM1610 eIy IL—L(2)
RER| 5 A & B A I <R %k fisi =
26 | NBHOS 7rutyh 3HX MS 3
27 | 1379110004 AT 1
28 | BSZ08040 aFERLE 7T M8X40 2
29 | NNFO8 7700 furF v b M8 2
30 | 1399860004 H—KCP 1
31 | 1399890004 F¥ LRI 1
32 | 055032000M B XA 8. 8 MS8X15 3
33 | 055474000M HFRLE 8. 8 M8X20 4
34 | NSZ08 aff B Fyh 8 22 MS 7
35 | WSA08 NEAYFHR 397 M8 10
36 | WRAOS 7R M8 6
37 | 0006880000 =XV ;20 6
38 | 0009630000 K5~ ; W—50100SQS 2
39 | 0433691000 tyXRFafATL— ] 1
40 | 1385460000 FYL; R Tw—27 250 2
41 | 1385470000 TV, hTI<v—27500 2
42 | 1061640000 AR/ =T/ 1
43 | 1064640000 TV A4 a7 50 1
44 11064650000 | T~ A2y 51 1
45 | 1065410000 FYL s b4 ay 127 1
46 | 1065900000 FYL s A4 ay 176 1
47 | 1386420000 FYL s FavkA 1 1
48 | KMSO11 T7ravxyy 7 11 2
49 | 1399880004 AN 1
50 | 059483000M B FRLE 8. 8 M8X25 3
51 | 8039780003 777 KCP ; L 1
52 | 8039790003 777 v hCP ; R 1
53 | 8039800003 A 1
54 | BSZ08070 afHZFRNVE 7T M8XT70 2
55 | WSAO8 NAYPHxR 337 MS 6
56 | WRAOS 7Y A M8 4
57 | BSZ08025 aBEZRLE 7T M8X25 4




SWM1610

Sy T Ty

\0

0685-0047-1003

REE| S S B - I - {(EEAS fii
1 1374541003 F—7ICP : F 1
2 | BZ16050 ALK 8. 8 M16X50 4
3 | BZ16040 ALK 8. 8 M16X40 2
4 | WSAl6 NP HEx 347 M1 6 6
5 | 1427340003 F—7/LCP ; RE 1
6 | 137617000M ECP;25%Xx113 1
7 | 137922000M o —FL—Fh; 1 1
8 | NSZ10 aBXZFyh 8 22 MI1O0 1
9 | WSAL0 NEYPHFX 327 M10 1
10 | 044098500M Ty ;10 1
11 | 137620000M FYCP;F25%X115 1
12 | NNF10 75 VF A4 uarFy h M10 2
13 | WRAL0 EIH¥HR M10 2
14 | ONB6 7)) —2=v 7L B M6 2
15 | 1374390004 m—5CP; F 1
16 | 1376490004 A% 2
17 | JCS207LLU o=y hIURTYLY CS207LLU 2
18 | DC035 CHZ K AD Y7 35 2
19 | BZ14040 AR 8.8 M14X40 4
20 | WSAl4 NAYPHR 337 M1 4 4
21 | 1424650004 n—ZCP; RE 1
22 | 1376490004 A% 2
23 | JCS207LLU o=y haURTYLY CS207LLU 2
24 | DCO35 CHEZ AU 7 35 2
25 | BZ14040 ALK 8.8 M14X40 4

T—=7IL(1)




SWM1610 eIy T—IL(1)
RER| 5 A & B A I <R %k fifi =
26 | WSA14 NREYPH%x 347 M14 4
27 | 1374460004 n—SCP ;1 1
28 | JUCFL207TDGB | X7V >~/ =2=v F UCFL207DGB 2
30 | BZ14045 ARLE 8.8 M14xX45 4
31 | NZ14 Fvh 8 2¥=2 Ml4 4
32 | WSAl4 NAYFHR 337 M1 4 4
33 | 1374500004 on—5CP; 2 2
34 | JUCFL205DGB | X7 VY Z/=2=v h UCFL205DGB 4
36 | BZ14050 ALKk 8.8 M14X50 8
37 | NZ14 Fvhk 8 2v=2 Ml4 8
38 | WSAl4 NREYPHx 327 M1 4 8
39 | 1424730000 ~Lh;225X3300 4
40 | 1424690004 HA RKCP ; F 1
41 | RBT10020 REZB 10. 9 M10xX20 5
42 | WSAL0 NREPHx 327 M10 5
43 | 137622000M AYaa—v ¥ 7 RCP 2
44 | BZ12040 ARLE 8.8 M12X40 4
45 | NZ12 Fvh 8 2v=2 M12 4
46 | WSA12 NEYPHx 397 M1 2 4
47 | 1245120000 AYaa—/LCP 2
48 | 125519000M Tyl v ;30 5X4. 5 2
49 | BZ12020 AR 8.8 M12X20 2
50 | WSA12 NAYPHR 33 M1 2 2
51 | 085137000M Tyl 13X3. 2 2
52 | 119493000M EYCP;F25X70 1
53 | BSZ10025 aBFARLE 7 M10X25 1
54 | WSA10 NRYPHEX 327 M10 1
55 | 060807100M Ty 1
56 | PS080040 AFY LT 8X 40 1
57 | 1339070000 STARY—Z 7L ; 40 (UL F) 1
58 | 1339780000 STAR~Y—Z 7~ ; 40 1
59 | 0003300000 SN AN AV E Sy AN 2
60 | 0009360000 Bt~ ; Y—50100SQS 2
61 | 1064980000 SYL s A A ay 84 1
62 | 1386430000 TV Favk,f 2 1
63 | 1065900000 TV A4 a3y 176 1
64 | 142472000M ZFL—k 1
65 | BSZ10035 aHHZRLE 7 M10X35 4
66 | NSZ10 aBEFyh 8 232 MI1O 4
67 | WSAL0 NAYPHx 337 M10 4
68 | 142739000M HA KCP ; L 1
69 | 142742000M HA RKCP ; R 1
70 | 140948000M URLE; 65C 2
71 | NZ12 Fvh 8 232 M12 8




SWM1610

(4

\0

e

Sy T Ty

T—IL(2)

g 55
56
Y 7
54

&R & 6 & & il fi £ i3 {[EE Ui =

1 | 137634000 | A% v k. 50X38T 1

2 | DCo40 CHANADU 27 40 1

3 | 1440770006 | =7 VE—X% ; MP 25 0 1

4 | KFB08070270 | ~Af =¥ — X~ 8XT7X27 1

5 | BZ12055 AL 8. 8 M12X55 2

6 | NZI2 FoF 8 2v= MI12 2

7 | WSAlL2 NREYPHR 337 M1 2 2

8 | 137644000M | A~<— 1

9 | BJ08025 #5%vv 7B 10. 9 M8X25 1

10 | 1376460000 | #5—; 25. 5x10. 5 1

11 | 1328160000 | A7/m v F;:50Xx127T 1| (50cmh7 (VAR

12| 1376280003 < | A7 04w b : 50X 13T || (B0emB7 b
B

13 | 1376300004 | AFms v b :50X15T || (TEemB7mAR:
B

14 | 1376450000 | 5 7 — 1

15 | 056984000M | 7 U v~ 1

16 | 1376380000 | 7o v av7—ACP; 1 1

17 | 081267000 | 7o v avm—5 CP 1

18 | DCO17 CHENAD DU 17 1

19 | BZ14040 AL 8. 8 M14x40 2

20 | NZ14 FvF 8 2v=2 M14 2

21 | WSA14 NxYPHxR 337 M1 4 2

22 | WRAL4 EI7H AR M1 4 2

93 | 1376350004 | RAC P 1




SWM1610 SyELT Ty F—TIL(2)

§--55

=56

Y57

54

50
sy
@fc‘& 10go .
O 112,18
/ e @BBQW\ 58
N7
<o Gy Pa

065-0047-1004

REE| E S B - I - fif% fisi =

24 | 1376310004 v 7 hCP 1

25 | 137648000M HI—:55. 9Xx14 1

26 | J60O7LLU R—_7TY 27 6007LLU 2

27 | DHC062 CHZ R AT TF 62 1

28 | BZ12040 ARLE 8.8 M12X40 3

29 | WSA12 NREPHFR 337 M1 2 3

30 | 137647000M HT7—;35. 5X12 1

31 | 137627000M A7u’ry b ; 50X25T 1 (50 cmlfi7 4 VAH)
. (60cmfi74 VoM

32 | 1376290003 A7alryb; 50xXx23T 1 W)
. (75 cmifi74 VA

33 | 0570720004 A7na’rv b ; RS50X21T 1 )

34 | 076487000M F1— 1

35 | 056984000M v 1

36 | LA50063B n—5Frx—r 50X63L A73VXF1 1

37 | LA50077 n—5Fx—r 50X77L 1

38 | 137641000M Fiary7T—ALCP; 2 1

39 | 081267000M Friarya—> CP 1

40 | DCO17 CHENAD PU 17 1

41 | BZ12040 ALK 8.8 M12X40 1

42 | NZ12 Fvh 8 232 M12 1

43 | WSA12 NAYPHxR 397 M1 2 1

44 | WRA12 IR M1 2 1

45 | NZ14 Fvh 8 232 M14 1

46 | WSA14 NEPFHR 3a7 M14 1

_8_



SWM1610 Sy T Ty F—TIL(2)

\0

g 55

<56

NY57

54

fiE S| B dn & B 1 S 1 T < I (EE:S ] el

57 | 044097200M Uyix,; 8

58 | 0940930000 ANy T~—7

59 1339780000 STAR~—7 7~ ; 40
60 | 096757000M vh; 25, 5X0. 6 -

47 | 072968100M Tyl x ;14 1
48 | 1393550003 HR—=CP ;1 1
49 | 0006900000 =¥ :M8X14 2
50 | WCR1HO8 PIARXY X 13220 MS 2
51 | 1378150003 HN—CP ; 2 1
52 | BSPZ08016 aHZSWYFHRLE 7 M8X16 3
53 | 044097200M Jyiy ;8 3
54 | 137906100M At 1
55 | RBT08016 AREZB 10. 9 M8X16 4
56 | WSAO8 NABFHR 337 MS 4

4

1

1




SWM1610 SyELT Ty HATFoI— L

10-§
11—
9/0
8 (o
17 %

REE| H S FE B L R < I 1) &%k i =
1 | 0931130000 YL HART Y T 1
2 | BX10035 ALK 10. 9 M10X35 12
3 | WSAL0 NREPHx 327 M1 O 12
4 | 1440740006 ar7YE—4%;MP100 1 | @214+
5 | BH12040 Fvv7B 10. 9 M12x40 2
6 | WSA12 NREPHR 337 M1 2 2
7 | 1376260002 F=+4> ;13 1
8 | 134619000M Tyl iy ;25. 5X1. 0 2
9 | 0907800000 7yl x ;8. 5X3. 2 1
10 | BSZ08020 SRR 7T M8X20 1
11 | WSA08 NRYPEH % 347 M8 1
12" | 1379831003 HAT 7L —ALCP 1
13 | BX10030 ALE 10. 9 M10X30 12
14 | WSA10 NREP A% 327 M10 12
15 | 1379780003 7% > hCP 1
16 | CAP060538 X¥vyv7” 60. 5xX3. 8 1
17 | BZ16040 ALE 8.8 M16X40 3
18 | WSA16 NEYFHR 3947 M16 3
19 | NZ16 Fvh 8 2v=2 M16 2
20 | 1385460000 FYL s hTIw—2 250 2
21 | KFC08070320 | ~A 2% — VUagu</)L 8X7X32 1




SWM1610 SYELT IV ARLYFIL—L

25|

=

3

(P
REE| H S FE B - I - {(EEAS fii =

1 1379500004 7% hCP ; AL yTF 1
2 | ONB6 J)—=A=v7)L B M6 1
3 | BZ12070 ALK 8.8 M12X70 3
4 | WSA12 NP Hx 337 M1 2 3
5 | NzZ12 Fvh 8 232 M12 3
6 | 137928000M FILACP 3 7 4L 1
7 | BZ12100 ALK 8.8 M12X100 1
8 | WRA12 EIYV AR M1 2 1
9 | NNFI2 7504 uarFy Rk M1 2 1
10 | 083273000M N— Frn 1
11 | 078897100M ATV T 1
12 | WRAOS eI r MS 1
13 | NSPOS ABXATY T R 4 M8 1
14 | 1285370000 =XV ;M8 1
15 | 137933100M HRILACP 1
16 | 000462200M ¥y CP:10 1
17 | 1379321000 n—7;¢34. 5 1
18 | BSZ08045 afHRLE 7T M8X45 1
19 | NNFOS 7700 furF v b M8 1
20 | 137936000M ¥ 7k 1
21 | DCO25 CHZMAD Y7 25 1
22 | 060807100M Ty 3
23 | 1323741000 n—7;¢25. 5 1
24 | 0587111000 ATV T Ty a s XU H 1
25 | 119848000M T—ALCP ; 74LAL750 (A) 1




ARLYFIL—LA

\0

SWM1610 Sy T Ty

25—

REE| H S FE B W s A i) {(EEAS fii =
26 | 080414100M Ty 8 1
27 | NNFO8 AT (=000 n N < 1
28 | 0333782000 7V T 1
29 | NSPO8 ABHATY TS b 4 M8 2
30 | 069868000M FILEE 12 1
31 | 1203530000 FoYL s T 4L A 1
32 | ONA6 JYV—RA=v7)L A M6 1




SWM1610 SYELT IV ALyFO—5
g1 o4 a4
24_§ T - Zﬁ}g
25— ° %‘8 17
/@
5229<g 16915 194]7;15 g9
v o g 5@—@“3
S B ea
K<
=0 %
S-11
S —5
— 1
}
REE| H S FE B L R < I 1) &%k i
1 | 1379380004 ARLwFZL—ALCP : 75 1
2 | 137960000M HT—:26. 2X24. 5 1
3 | 117375000M HF—;26%X20 1
4 | PS050036 ATV LT 5X36 1
5 | 1379460000 AR LwvFuE—FCP ;790 2
6 | JPFL203G NAT7F52Y By PFL203 8
7 | JCS203LLU 2=y hda3uy~xX7yYJ 27 CS203LLU 4
8 | WRAOG EI7Y AR M6 8
9 | BZ06020 ALE 8. 8 M6X20 8
10 | WS06 NEXPFEHFX 237 M6 8
11 | NZo6 Fvyh 8 232 M6 8
12 | WRAL2 eI R M1 2 2
13 | WSA12 NEXP A 327 M1 2 4
14 | NZ12 Fvh 8 2¥=2 M12 4
15 | 117392000M BT—;17. 5X4 2
16 | WRA12 IR M1 2 2
17 | 1379580002 X¥¥ ;M3X28T 1
18 | 1379590002 ¥¥ ;M3X18T 1
19 | KFD05050150 | ~Af 2% — UzaybZ 5X5X15 2
20 | 137957000M ZFL— 1
21 | WSAL0 NAYPHR 337 M10 2
22 | BSZ10020 aHHARLE 7 M10X20 2
23 | 120339000M 27V ”  H3. 5X20X160 1
24 | BXI08035 ALK 10. 9 ¥ M8xXx35 1
25 | 044097200M Tyvix ;8 2




SWM1610 SyELT Iy ArLyFO—5
87 =l =
24;5 28 o 16 316
o ° %‘8 17
25—©
26 194]@15 1997
203 6 1580
32 7‘@ 6\@_@8
6 8
= ﬁ . 6—.
Kas)
=T
Sr11
5 |
—5
—1
9
T R St | S—
S—2 @E/s
@/7
13889 &6
06 0047100 8
12A® @J\]O
1E i
A& & 5 & 5 oW A %% i =
26 | NS708 afxFyh 8 232 MS 2
27 | WSAO8 NREPFEHR 3a7 M8 1
28 | 1379610004 HNN—CP ; AL vF 1
29 | 080414100M 7wy ;8 4
30 | 044097200M 7y ;8 2
31 | NNFO8 750 A4 urF v b MS 2
32 | 1385470000 T~ b I~—27500 1




T4ILLRILE

REE| H S FE B W s A i) {(EEAS fii =
1 1375431003 77 KCP 1
2 | BZ14080 ALK 8.8 M14X80 3
3 | 087225100M Jyv¥ 14 3
4 | 1375660003 T HENVE—CP ; UP 1
5 1375770003 77 HRNVE—CP ; Lo 1
6 1375840003 7 FCP 1
7 | ONAG JYV—RA=v7)L A M6 4
8 137598000M ELYCP; F25X75 2
9 119437000M ECP;F25X116 2
10 | WRA24 IR M2 4 4
11 | 083995000M To¥¥ ;17X4. 5 4
12 | NN16 JArrFyh M16 4
13 | 137585000M INA T 1
14 | 137586000M T — 1
15 | CAP027228 ¥yv7 27. 2X2. 8 1
16 | PS050040 2TV T 5X40 1
17 | 137595000M Fx %L CP 1
18 | 040588101M AT T 3
19 | NNF10 7700 furFv b M10 3
20 | 137588000M A 1
21 | 044097200M Ty 8 2
22 | WSAO8 NEXYPHxR 337 MS 2
23 | BSZ08035 affHFRLE 7T M8X35 2
24 | 137587000M FA 7 1
25 | WRAOS 7P HTR M8 2




SWM1610

T4ILLRILE

13890-1

065-0047-1008

REE| H S FE B - I - {(EEAS fii =
26 | WSAO8 NAYPHR 337 MS 2
27 | BSZ08016 aBFARNLE 7T M8X16 2
28 | 119442000M F>CP;F16xX35 1
29 | WSAL0 NREPHx 327 M10 1
30 | BSZ10020 aHAZRLE 7 M10X20 1
31 | WRA20 v Z7HAHR M20 1
32 | PC040032 JUYEY 4X32 1
33 | BXI114060 ALE 10. 9 T M14X60 1
34 | NZ14 F>vh 8 232 Ml4 1
35 | 0433691000 toyFoFavAFL—] 1
36 | WSAl4 NRYPHx 347 M14 3




SWM1610

Sy T Ty

\0

awvy

065-0047-1009

RHES| 5 & 5 L R < I 1) &%k i =
1| 042322200M Tyl % ;16 2
2 | 042783600M Tyi¥ ;12 1
3 | WSA12 NRYPHFX 337 M1 2 1
4 | NZ12 Fvh 8 232 MI12 1
5 | 065482200M Tyvx ;12 2
6 | WCR1L12 PINRRZYPHR 1274 M12 -
7 | 042783600M Tyx ;12 1
8 | NNF12 75 04 arF o b M1 2 1
9 | 1379640004 77/ hCP 1
10 | KBF-2525B H—R RIA4B 750Y% B 25X 25 2
11 | 042322200M Tvi% ;16 1
12 | WSA16 NEPHEx 347 M1 6 1
13 | NZ16 Fvh 8 2v=2 M16 1
14 | 137976000M 'y ; 25%X95 1
15 | 060807 100M Ty X 2
16 | PS050040 ZAFY T 5X40 2
17 | 1379691004 727w hCP ;mvY 1 | ®181F
18 | 1384140000 LTS L— | 1
19 | 137977000M Yy 25%X120 1
20 | KBB-2515B H—R RIA_TFIU 7 B 25X28X15 2
21 | 060807100M Ty 2
22 | PS050040 ZAFY T 5X40 2
23 | BZ06045 ALE 8. 8 M6X45 1
24 | NNFO6 77V Af vy b M6 1
25 | 137975000M T 1




SWM1610

\0

Sy T Ty

awvy

065-0047-1009

RHES| 5 & 5 L R < I 1) &%k i =
26 | BJ10035 +I5F%F%v 7B 10. 9 M10X35 2
27 | WRALO v AR M10 2
28 | 044098500M Jv% ;10 2
29 | WSAL0 NEYPHx 347 M10 2
30 | NSZ10 aHEFyh 8 2¥=2 MI1O 2
31 | BSZ08035 aHERNLE 7T M8X35 1
32 | WSAO8 NRYPHx 337 MS 1
33 | NSZ08 aBXZFyhk 8 22 MS 1
34 | 077412000M 27V 7 H 1




SWM1610

065-0047-1010

REE| H S FE B - I - {(EEAS fii =

1 1385855000 av ha—aARv 7 ACP 1

2 | 1385860000 a—FK; 7Ky 1

3 | 1385870000 a— R kot 1

4 | 1398440000 AT NY XA R 1

5 | 1385880000 T Fgrva—R 1

6 1345450000 2—F;5000 1 | @731+
7 1105960000 URATHEAA T 1

8 | 1105930000 i — R Bov— 1

9 137917000M toY—7757 v FCP ;1 1

10 | 137926000M T LTI 1

11 | CP03016 +F_RaxyY M3X16 2

12 | WRAO3 VAR M3 2

13 | Wso3 NREYPHx 237 M3 2

14 | CP03025 +F_axy M3X25 2

15 | WRAO3 IR M3 2

16 | WS03 NREYPHx 237 M3 2

17 | NAO3 Fv bk 4 232 M3 2

18 | BSZ08035 affERLE 7T M8X35 2

19 | WSAO8 NAYFHR 397 MS 2

20 | NSZ08 aff A Fyh 8 232 MS 2

21 | 044097200M Ty 8 2

22 | 1386820000 XY AL vF 1

23 | 137920000M vt —77%5 v NCP; 2 1

24 | 138003000M Ty 1

25 | 1385900000 T TNTT 1 22— R 2 mff




SWM1610 eIy T
RHES| & oo & 5 I T < B i {2 fisi

26 | BSZ08020 afHEFRLE 7T M8X20 2
27 | WSAO8 NAYPHR 397 MS 2
28 | 044097200M Ty 8 2
29 | BJ10040 +I7%¥y>v7B 10. 9 M10X40 1
30 | WSA10 NEAYPHR 337 M10 1
31 | NSZ10 afFFyh 8 232 M1O 1
32 | WRAL0 EI7H¥HTR M10 -
33 | SHL-W2155 Vv NAAL vTF 1 o— RHEL
34 | 137925000M o —FL—h; 2 1
35 | CP04030 +FRaxy M4X30 2
36 | WRAO4 v IR M4 2
37 | NPO4 ATV T Fy b M4 2
38 | BZ06012 ALk 8.8 M6X12 2
39 | WS06 NREYPHx 237 M6 2
40 | WRAO6 7 HR M6 2
41 | 1122090000 7 K 1
42 | 137923000M v —77%v FCP; 3 1
43 | 1385890000 T Fagrva—R 1
44 | 146294000M LA—CP 1
45 | 119544000M 7y KCP; 60 1
46 | 1119720004 T3 — 1
47 | 0774093000 Ty a 2
48 | CP04016 +F_Raxy M4X16 2
49 | WRAO4 IR M4 2
50 | NPO4 A7V TFy b M4 2
53 | WRA16 IR M16 3
54 | DEO12 EAX AT 12 1
55 | WRAOS eIV R MS 1
56 | PC032016 JUEy 3. 2X16 1
57 | NSZ08 affZFvh 8 2= MS 1
58 | 079424000M T —J T R; 8X32 1
59 | 079425000M Ly 8X32 1
60 | BSZ10035 o ARLE 7 M10X35 2
61 | WSAL0 NAFHR 337 M10 2
62 | NSZ10 aBhAZFyh 8 22 MI1O 2
63 | BSPZ08016 aFFSWYFHRLE 7 M8X16 1
64 | ILT150 Avavay/HA 3. 5X152 -
65 | ILT380 Avaay I HA 7. 5X382 -
66 | 1385910000 FYL s FavuA 1
67 | 1301790000 A= Ay AV < 1| ffEFEEH CR2032 (3V)
68 | 1105960010 V¥t HP—;GLS—S1 1
69 | 0937330000 toHa<wr Ry k 1
70 | 1391930000 AR BED) 1
71 | 1385813000 SVay Valx 1
72 | 0887210000 AL FGNFa—T 1
73 | FU30 ta—ZX:30A 1




arJ

065-0047-1011

REE| H S FE B - I - {(EEAS fii =
1 | CLF40M HF5 FA PT1,/2 2
2 | 0007781000 N7TT7Fxv 7 1/2 2
3 | 2083-08-06 =7 PT1,/2XPT3,/8 1
4 | 106900000M Ty PF1,/2XPT3,/8 2
5 | 1369190000 TA4NE 3 1,/2—60u 1
6 | KHO602000AP | =7 Y&HK—A 3,/8X2000 1—4 1
7 | KHO802000AP | =7 YA—A 1,/2X2000 1—4 1
8 1033-06-08 AR—AxT)HR PF3,/8XPT1,/2 1
9 1033-08 AR—Ax)AR PF1,/2XPT1,/2 1
10 | 116832000M Frw VT 0 1,/2 1
11 | 2083-08 =y 7V PT1,/2 1
12 | 117267000M T PF1,/2XPT1,/2 2
13 | 1512400000 FLUNR AR 1
14 | BHO5080 ¥vv7B 10. 9 M5X80 2
15 | NAO5 Fv bk 4 232 M5 2
16 | WS05 NREYPHR 297 M5 2
17 | BSZ08020 afEFRLE 7T M8X20 2
18 | WSAO8 NAYFHR 397 MS 2
19 | 105166000M T PEF3/8XPT3,/8 HA,y ME| 2
20 | 102551000M Ty PF3,/8XPT1,/4 6
21 | KHO600630DP | = 7Yk —A 3,/8X630 S901—4 1
22 | 8039810000 TIAFVT 42V s HF 1
23
24
25 | 4043-10-06 UNF~7vvv” UNF7,/8—14XPT3,/8 3




SWM1610 SYELT IV ayy
RHES| & oo & 5 I T < B i %k fii =
26 | 1033-06 R—ATNR PF3,/8XPT3,/8 2
27 | KHO602600FP | =7 YA —2A 3,/8X2600 S451—4 1
28 | 2083-06 =v7) PT3,/8 1
29 | 2091-06 74— PT3,/8 1
30 | KH0600500DP | 7Y AR—Z 3,/8X500 S901—4 1
31 | 1033-06-08 AR—AxT/R PF3,/8XPT1,/2 1
32 | 2091-08 T4— PT1,/2 1
33 | 2081-08-06 7y PT1/2XPT3,/8 1
34 | 106790000M =y 7NV ;PT3,/8XPF3,/8 2
35 | 1003440000 WAy ;17 4
36 | 124511000M Fry L7 3,/8 1
37 | 2088-06 AAF AR PT3,/8 1
38 | 106900000M 7y PF1,/2XPT3,/8 4
39 | 1035-06 AR—AxT)R45 PF3/8XPT3,/8 1
40 | KH0601300DP | =7 YA —2Z 3,/,8X1300 S901—4 1
41 | KH0603300DP | =7 YA —2Z 3,/8X3300 S901—4 1
42 | 1013-06-08 A—2=v 7L PF3/8XPT1,/2 1
43 | 1033-04-06 AR—AxT)LR PF1,/4XPT3/8 1
44 | KHO402700FP | 27 YA—2A 1,/4X2700 S902—4 1
45 | KH0403800FP | =7 YA —2Z 1,/4X3800 S451—4 1
46 | KH0403800DP | =7 YA —2A 1,/4X3800 S901—4 1
47 | 2088-04 AA FA TR PF1,/4 1
48 | 112531000M 22— X —2 T 1,/ 4 1
49 | 2086-04 TR PT1,/4 1
50 | 1373620106 YU, CWP60X115X345 1
51 | 1035-04 AR—AxTNR45 PF1,/4XPT1,/4 2
52 | KH0405100FP | =7 YA—Z 1,/4X5100 S451—4 1
53 | KH0405100DP | =7 YA —Z 1,/4X5100 S901—4 1
54 | 1033-04 R—ATNR PF1/4XPT1,/4 2
55 | 1193510106 U2 CWP30X90X230 1
56 | 112156000M RN 1,4 1
57 | 2083-04 =y 7N PT1,/4 1
58 | KHO401900FP | =7 YA —A 1,/4X1900 S451—4 1
59 | KH0401900DP | 7 YA—A 1,/4X1900 S901—4 1
60 | 1033-04 A—AT)R PF1/4XPT1,/4 2
61 | 1173400106 SULH  CWP30X50X275 1
62 | 098624000M F ¥ I 8
63 | 098530000M F¥ R 8
64 | 138004000M F ¥ KR 2
65 | BSZ08040 affHFILE 7T M8X40 6
66 | BSPZ08020 aAFHSWYFHRLE 7 M8X20 12
67 | NNFOS 77004 vur by b M8 6
68 | 044097200M Ty 8 18
69 | 0749681000 ANRAL FGNTF2—T : 500 -
70 | ILT380 Avavay I HA 7. 5X382 -
71 | ILT200 AvaayIBA 4. TX202 -










Mo | S—160627K

¥ 0668555 Fm i L E A 1 0 6 1 F H o2
TELO123-26-1123

FAXQ123-26-2412

FEEEMR 06685 T mmLEEH#H1 06 1 F b 2
TELO123-22-5131

FAX0123-26-2035

EEEEM 0084100 FEMEFWFEEHORY1191FH44
TELO162-82-1932

FAX0O162-82-1696

FILEEM 0302462 LW 225dt1 THI1I2FHA4
TELO155-37-3080

FAXQ0155-37-5187

ISR 086-1152 HEE A P EEE L 2 TH16 % 2
TELO153-72-2624

FAX0O153-73-2540

TEBERM 0283172 AFREETARBIILFRELIHRE120%3
TELO198-46-1311

FAXQ0198-45-5999

WEEEPR 9830013 =EHEMATHE®REXHFFEMHE179-1
TEL022-388-8673

FAX(022-388-8735

INUE 2R 3230158 M5 A B Nl R 251 2 -1
TEL0285-49-1500

FAX(0O285-49-1560

RIWHRAT 4840894 EMBE AIFHEFSHES F 1
TEL0568-69-1200

FAX0568-69-1210

MILEZERR 7000973 MILEMLUTHLR FHH 704-103
TELO86-243-1147

FAX(086-243-1262

BEARE P 861-8030 REABEBATHRX/MILET1639-1
TEL 096-389-6650

FAX(096-389-68710

MM E R 885-1202 EHIRASHR I MBI 1003 -2
TEL0986-53-2222

FAX(0986-53-2233

. 28. 06. 2S



